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Question Number : 1 Question Id : 7512365601 Question Type: MCQ Option Shuf%: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A)

Classification is grouping into cate %:’ based on observed characters
and the categories are referred as

Reason (R) : Taxa are unbiased and indi ﬂﬁ\ of -::ategoues at different levels n
classification. Q/

Tgps (A): 0}555”5} ol HOIEG ﬁéww esgrdor Pdrerod DS
ity 08 PO LrETe @olrdd.

s*demo (R):

5688 36@@@@* renes ARETE e $005 BSraress

caTe T B o0,

The correct answer 1s:

XGPS BBrTHB0:

Options:

1.

| (&) D00t R) 02 Bodsr 5050, 59 ()% (R) 50805 D50 578,

Both (A) and (R) are true. (R) is the correct explanation of (A).
(A) H00030 (R) @0 Bodr 205080, (A)ss (R)H0508 Jh8en.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).



(A) 1s true but (R) 1s false.
(A) 2853058, 520 (R) 585086 5.
)

(A) 1s false but (R) 1s true.

(A) 58050 56, 59 (R) 05056,
4.

Question Number : 2 Question Id : 7512365602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

A)  Asexual I)  Fusion of protoplasms between two motile or
non-motile gametes

B) Karyogamy IT) Repmductionés oospores. ascospores and
basidiospores

C) Meiosis IIT) Repmduct@ spore called conidia.
ZOOSpPOres. sporangiospores

D) Plasmogamy two nuclei
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Question Number : 3 Question Id : 7512365603 Question Type: MCQ Option lidg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Q

Match the following lists :
List-1

A)  Gaspard Bauhin @ Crystallization of the enzyme urease
B)  Sexual reproduction in plants @CA]} Robert Hooke
C) JI.B. Sumner IT) Camerarius

A\ List-TI
D) Micrographia Q/v V)

Introduced binomial nomenclature

& Bob DKL ae:awq;]@
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Question Number : 4 Question Id : 7512365604 Question Type: MCQ Option Wg: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R) :

Tgpg (A):

8o (R) !

Gametophyte is represented by féw Lelled or many celled stage called
diplo-haplontic life cycle.
Pteridophytes and all seed b@g plants follow diplo-haplontic life cycle

pattern. @

SoBrH Dedo g’ﬁﬁ“@ $eamwo S0M0BM ol dok QERBE £
G0 e DnPhod.

Ea&‘"ﬂgaﬂt&w&oﬁw ATl EIAS o) IngH e Eoh-EYSE
IS HE O5°Q) BRD8T0w.

The correct answer is:

HOG0H HdrErdSa:

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) So80sn (R) eo Sodr 385082, (R) 036 (A)s 20508 Dbk,
1

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
, (A) 500050 (R) o Bodr H0g080. 570 (R) 936 (A)se D050 Db 5780,



(A) 1s true but (R) 1s false.
- (A) 885058, 0 (R) %0588 6.

(A) 1s false but (R) 1s true.
i (A) 585088 57, 50 (R) H05058.

Question Number : 5 Question Id : 7512365605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The pigment chlorophyll 'C' 1s present in
I  Dictyota

.  Ulothrix

. Porphvra

IV.  Sargassum

O
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Question Number : 6 Question Id : 7512365606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Tap roots of sweet potato become swollen to perform functions other
than absorption and conduction of water.

Reason (R):  Roots in some plants are modified for storage of food.

g (A): DoNE0HST eﬁ@?ﬁd& &), T 0N G JGHTT sHoT RS
ooy AT 08,
sdwo (R): §Q) Iwgeod’ I sFfddogod Jogidchdo 568 driroddo

DOBIET o0,

The cormrect answer 1s;

HOG0H SIPEHI0:

Options:
Both (A) and (R) are true, (R) 1s the correct explam@ of (A).
(A) 506050 (R) en Bodor $6G032. (A% (R@%ﬁa D55e0.
1 &
Both (A) and (R) are true but (R) 1s not rrect explanation of (A).
(A) So8cdn (R) oo Bodsr 20808 (A)ge (R) £06308 &8 5.

z.

(A) 1s true but (R) 1s false. Q/
5 (A) 2853058, 570 (R) éa& e,

(A) 1s false but (R) 1s true.
, (A) 8853058 52, 50 (R) D033088.

Question Number : 7 Question Id : 7512365607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the features given in List - I with the groups present in List - IL

List-1 List-1T
A)  Pulvinus [) Legumes
B) Cladophylls I) Euphorbiaceae
C) Cyathium ) Asparagus
D) Head inflorescence V)  Tridax
V) Cucumber
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Question Number : 8 Question Id : 7512365608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Stamens of a flower may be united with other parts such as petals or among themselves.
Identify the correct statements from the following:

The stamens are united into one bunch as in Pea

The stamens are attached to the petals. epipetalous as in brinjal
The stamens are united into more than two bundles as in china rose
Stamens are attached to the perianth in lily
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28 YRS’ BdTren 288 PYprmred’ M Bur T8 I Sodingsoon wokdEy).
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Question Number : 9 Question Id : 7512365609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : In Algae. haplontic life cycle is the dominant phase.
Reason (R): Inmany algae zygote divides by meiosis immediately after karyogamy to
form haploid spores.

gy (A): Idored’ :)é?&:@é EJ8T o Pros &4
s8w0 (R): oo Idered” o@E Sodrddn 2008 J0bd 8RS ddzren
:Jdnjdéﬁj"’ﬁ}@ DoosnE Dzoe’ ol Jgnd 2.

The correct answer is;
é&@oéﬁ SArorSha:

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
, (A) So8asn (R) eo Bodo $6gda. (A)se (R) ﬁé D58ea.

Both (A) and (R) are true. but (R) 1s not ﬂl@({ﬂ'ﬁct explanation of (A).
, (A)S08a5n (R) @0 ok $8G3:53. Fé) o (R) 568308 o8 s°80.

(A) 1s true but (R) 1s false. @
. @)sogss, 52 ®) m@x)@
(A) 1s false but (R) 1s tru &
(A) B8G0E8 5%, 50 (R) 280da.
4

Question Number : 10 Question Id : 7512365610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Pre - fertilization events mclude which of the following?
I  Gametogenesis

. Zygotic embryogenesis

. Gamete transfer

IV. Homogametic union

V. Heterogametic union

& 808 TES" D HobEln JrdrRondinen?
L Sodriide 2880

I Soddngde Hodaddo

. Jodridare Saver

IV. J3%0%0drn dere Sodoiikon
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The correct combination 1s: é

. IMLIV.V
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Question Number : 11 Question Id : 7512365611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :
List-1 List-11

A)  Entomophily I) Squirrels
B) Chiropterophily ) Snakes
C) Therophily ) Insects
D) Ophiophily IV) Hummingbird
V) Bats
& 800 TAY =SErE08.
58 -1 588 -1
A) Swso Ho Dodd)sn ) &dden
B) 85209 ) &5@&
C) 85'0d 1m) %Ex»

D) 258559 I\,{%@
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Question Number : 12 Question Id : 7512365612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The floral formula for the below potato floral diagram is

& 1§08 YD VorTod PBEIs HAydosdo.
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Question Number : 13 Question Id : 7512365613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indicate the correct floral formula from the following. which is characteristic representative
of the Pisum sativiim

& (808 TS Db STJ & Dogreorr BOGHRAD OGS @&JE’&U@@‘*‘% drdodod.

Options:



Br.Ebrl ®.§ K 5).Ci5)-A -Gy

BB % ¥ Kigy Conaiays Ay G

1
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Ebr.Ebrl.%. § K s).Cis)-Agn-Gyy

Question Number : 14 Question Id : 7512365614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical nucleosome “bead” 1s made up of '\9

Options: &:»
8 histone molecules and 146 base pairs 0@;

) 8 S @waoder S08asw DNA o‘:‘x@\(@ﬁ 50 wden

Qo SrgfBrrd Trd S8 SairdHdod

8 histone molecules and 200 ba@/gfrs of DNA
T o ¥ e e 4 2 ;
, 8 e eeander $0ain %ﬁx G0, 200 576 2den
4 histone molecules and 146 base pairs of DNA
; 4 oPe vwodor bodw DNA Gy, 146 58 2den
4 histone molecules and 200 base pairs of DNA
4 5P weodoo 080w DNA g, 200 578 a2den

4

Question Number : 15 Question Id : 7512365615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following structures with therr correct names :

& Bod Jorross HEGHE WES® adirdod.

List-1/5¢8 -1

A) NH,-CH-CH,-CH,-CH,-COOH I

|
COOH

B) CH,-OH
s
CH-OH

|
CH,-OH

C) CH,—(CH,),,—COOH

D) NH,—CH-CH,-OH

|
COOH

The correct match is:

S8GS ad:
Options:
Aa @ (©
.,V @I m
Aa @ (©

> IV I I

D)

D)

=

List -1/ 5¢% - 11

Fattyacid

?@‘5 @59}0

Serine

088

Glutamic acid

@@&g @@0

Alanine
Beia e
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Question Number : 16 Question Id : 7512365616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chromosomes align at the equator and the microtubules from opposite poles of the
spindle get attached to the kinetochores of sister chromatids are in

EArPFe0 NPGROMT @0, B8 JWTHL GHTe IYo vod JrETIEo FEY
§Br83% EITTE0H 0 056° Gotrow. o)

Options: QN
Metaphase - (1/
&g & - 1

Telophase -1 @
| ©odg &¥ -1 Q/v
Metaphase - 1T &%

Sodgd &F - 1o

Telophase - 11

wodg & - 1I

Question Number : 17 Question Id : 7512365617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Spermatophytes contain a type of primary xylem which is exarch i stems.

Reason (R):  Protoxylem lies towards periphery and metaxylem lies towards the centre.
Such arrangement of primary xylem is called exarch.

Tgps (A): ﬁgd&ﬁ?j@ﬁm .8 J8308 |r&E T 8O0 wolrron. ©d sPolod”
eIy (PRS0 wotnod.

8o (R): 0T IBOIYP, Wod Iy SHOIPH rotrrow. FPEE
THHS & 5D b iy REHNT 80 wolrd.

The correct answer 1s
Ef::a@oé [hdrorN b

Options:

Both (A) and (R) are true, (R) 1s the correct expl S& of (A).
(A) $98080 (R) & Bodr $6G059. (A)% (@‘/@_@:} D550,

Both (A) and (R) are true but (R) 1s not t rrect explanation of (A).
(A) S08cs0 (R) 0 Bodsr H8G3085. (A)so (R)£65308 D8 578

(A) 1s true but (R) 1s false. J

, (A)sogis. 50 ®) @e;éga

(A) 1s false but (R) 1s true.
(A) 2853088 &, 50 (R) 2056,

Question Number : 18 Question Id : 7512365618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Vascular cambium produces:
95 Jerag Eardd 28I &g Dyyod:
Options:
Primary xylem and primary phloem

FEE TN, |TPIE FEE Seerewo
1.



Primary xylem and secondary phloem
o EPENE T, Hraoh FaE Sewreo

Secondary xylem and secondary phloem

3 &5@053 TSI, &:‘5&&’1& sras Beoereo

Secondary xylem and primary phloem
; 5‘5%0“33 P82, (PEIE RS Bereo

Question Number : 19 Question Id : 7512365619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following statements is not true with reference to a successive seral stages.
& 808 TAS” w8 Trgpy wbEBos™) A7 @&goﬁoﬁ Lowofol) JHOTIE T,

Options:

There 1s a change in the diversity of species Df‘o@n’sm&

There 1s a decrease in the total bi{m@gj
AP (BRgTId” dhdo wolng

&

The number of species my@nisms increased.

O, TPV Jopg WMok,

#Naréoe Eﬁcﬁgo@* A’J:deg Gotnad.

There 1s an increase in the total biomass.

EJESg07es” whibhde wodnod.

Question Number : 20 Question Id : 7512365620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) :  Soil is a major factor for establishment of a biotic community with diverse
organisms and it takes several hundred to thousand years to produce fertile
soil on bare rock.

Reason (R):  Lichens secrete acids to dissolve rock for soil formation.

Jewe (A): DAGBere EHhod BORS 2I0500°ch FHIH 0B .8 Bopsdod

) © g2 DR
57880, HBBw T8I0 $08 FES50EIS S)8% bé&fé&é&é& £Q) Sode
od) Jo Ddoddore ddooko Hsod.

sémo (R): 082 §0M0d H0)B5% ScSrsBosirds Bk sird) ©IFow.

The correct answer 1s:

$OG0F SErErSS:

Options: g

Both (A) and (R) are true, (R) 1s the correct expl '}ﬁn of (A).
(A) 558050 (R) &0 Dok $0$D. (ﬂ)&/&‘)‘})ﬁ@:é D58k,

Both (A) and (R) are true but (R) 1s nmqlﬁ%ﬂ‘ect explanation of (A).
(A) 500030 (R) @0 Bodsr $6383352 (A5 (R) 36508 D580 sk,

(A) 1s true but (R) 1s false. Q/
m_?’h BP0,

(A) %8358, 50 (R) %

(A) 1s false but (R) 1s true.
(A) 285058 58, 50 (R) 2850856.

Question Number : 21 Question Id : 7512365621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

List-1 List-1I
A) Guttation
B) Imbibition
C) Dessication
D) Suberin

Abscisic acid
Root endodermis
Diffusion

Shoot epidermis
Root pressure

s2HB®

& Bod JPBod 288rdyod.

He38 -1 2838 -11
A) DodoErdo D efos esdo
B) 2>l I SSrgosdssn

C) g0 ) @fbfa
= S %{J{é g S0

D) #5288 X
@ 3¢ Hdo
@)

The correct match 1s: @
$8GS wd: Q}

Options:
A B C /ﬁ\%
. I vV N I
A B & D
> V I I I
A B & D
- \Y Ir Vv I
A B 2 D

, I m VvV N

Question Number : 22 Question Id : 7512365622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :
A) Manganese

B) Magnesium

C)  Sulphur

D) Molybdenum

& B0l TR 2dErG)0é.

D¢ -1
A) 5088
B) Sofhhoha
0) sey8
D) $r0Qs5

The correct match 1s:

SOGN wd:
Options:
A @ (©

;I Y V

A @ (©)

o 1 I I

A B (©
|G i

A @B (©

I N V
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D)
‘FT

D)
v

(D)
11

szEs*"

List-11

Kinase reaction and turgidity of cells

Water splitting in oxygenic photosynthesis
Nitrate reductase

Chlorophyll

Disulphide bonds to stabilize the protein structure

2838 -1I

288 -1l

BI& €8y Hodcn e ﬁ:&éo

w8Edm Sdmaly SodBriEhe’ I QTyBI0
B 0u3S \C/b

FES m%i;}{s REEE BITYE @G
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Question Number : 23 Question Id : 7512365623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

List -1 List-11
A)  Oxido reductases I)  Fructose— 1. 6 —biphosphate + H,O
/ dehydrogenases Fructose —1.6-biphosphatase ;

Fructose — 6 — phosphate + inorganic phosphate

B) Transferases II) Argino succinic acid __ Arginosuccinase
Argimine + Fumaric acid.
C) Hydrolases II) Glutamic acid +NH, +ATP __Glutamine synthetase y
Glutamine + ADP+1p
D) Lyases IV) Malate + NAD™ __Malate dehydrogenase ,
Oxalo acetate + NADH +H"
V) Glucose +ATP _ Hexokinase ;
Glucose — 6 — phosphate + ADP.
& §0b H8Bod 288r8)0é. \9
T | 588 -1I Q
A) ©5& o8ESw D $55-1.6-3588 +H,0 g e geapE
| @2 dfen @R —6— + o RoB FoyS
B) rSsdses ) epsss g0 _ SeTRERE |
SRS §3088 @330
0) TEEEw m) esdoo + NH, +ATP__ B&r®seo638
255 + ADP + ip
D) odh&w IV) 3086 +NAD® _ 5086 drEess |

ess™eS® wRBé + NADH+H™
V) fpE%+ATP __TEEIE | £r86 6 27hyS + ADP

The correct match is: / DOGS 2
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Question Number : 24 Question Id : 7512365624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Oxygen evolving complex which is responsible for oxygen evolution during photosynthetic
light reactions 1s physically associated with

8802500 5708UdseS” efuado b Do w8 ag&:& D080 st SHE
002000 808 Gotnod.

Options:

O
PSI ‘\/QN
_ PSII C)Q/}
g T N
» 29 00l
p &%

Question Number : 25 Question Id : 7512365625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the order of their occurrence in the Hatch and Slack pathway.
1  Decarboxylation of C, acid into a C; acid in the bundle sheath cells.

. Transportation of C; acid into mesophyll cells.

Il Fixation of atmospheric CO, into a Cy4 acid in the mesophyll cell.

IV.  Transportation of C, acid into bundle sheath cells.

V. Regeneration of phosphoenolpyruvate in the mesophyll cells.

Edi

W H080%0 T Hrfod” wd) & (ol TE SHJED0S” wdod.
Do) Fh Smres®, Cyuio Gng), &57o§)Bas Tio Cyuiom Hribhw.

C;sh0 JErodd Sarod’Qg o

T&N80’ R CO,, JE odd Serrod” C esdoom Fad.

==

st

Ciud00 J@rods Serros’AE St

V. Sg0dd Berod nsd ROIE @ﬁ&é%@

The correct sequence 1s : &

SOGHN SHd B Cj@

Options:
MLILIV.LV @

OLIV.LILV Q/v

. OLLIV.VII

o LVILILIV

Question Number : 26 Question Id : 7512365626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the order of their occurrence with regard to glycolysis.
L  Phosphoenolpyruvate

I. 2 - Phosphoglycerate

I0. 1.3 - bisphosphoglyceric acid

IV. 3 - Phosphoglyceric acid

V. Pyruvic acid

N5 0080 Jo0don) &H) & 1Bod TEI SOJEH0S” vlodobk.
L INSsSnéral

H 2- #ﬁf‘gﬁéﬁéﬁ

Ol 1.3 - &99)0eds sipo

V. 3 - &)0ied8 wdoo

>
V. 2828 sdo q/Q

The correct sequence s ; é
SBGHE SBED: O
Options: @

, LILLV,IV ((/?*
, MLIVILLV &(0

. VLILILIV

, IVILILLV

Question Number : 27 Question Id : 7512365627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the dehydration and oxidation reactions among the following :
I  Oxaloacetic acid + Acetyl CoA — Citric acid + Coenzyme A

II. Fumaric acid + H,O — Malic acid

M. Citric acid — Cis-aconitic acid

IV.  Isocitric acid + NAD™ — oxalosuccinic acid + NADH

V. Malic acid + NAD™ — Oxaloacetic acid + NADH

3)9@%590 5086050 B8EGmo Fogod & §ob T8S HBowod.

I  w5d ool sio + 988 CoA — JES wido + 3TI0B0 A
O 9go8s so + H)O — 55788 esidoo

Ol D8 eioo — DR-08ABE edo

V. %8 efo + NAD' — s5e°8§)08 eiiyo ONADH

V. 5505 sio + NAD™ - us&Ped&s @@@ADH

v

The correct combination 1s : @

D80S Eewons ¢

Options: @
m.Iv,v Q/?"

1.
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5 ILIOLIV.V
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Question Number : 28 Question Id : 7512365628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following plant hormones given in the List - I with their main corresponding
physiological effects. presented i the List - I

List-1 List-1I
A)  Auxm I) Cell division
B) Gibberellins ) Fruitripening
C) Ethylene [lI) Bolting in cabbage
D) Abscisic acid IV) Apical dominance
V)  Seed dormancy

H88-1 &° adS oG o 6 3%, HGE-II &° &) S80S 0850 Boird)§ DerTrod’
shopg Doxodo EOAS & =d8rdod.

558 -1 586 - 11
A) =83 ) Seedgfad
B) CANGIINISY M Heoe &%é
C) 2685 Im) FE@&SQ@?‘E
D) eo§ el IV) Amr&sgs

The correct match 1s: @
DORS 28! Q/v
Options: %
@ ® (© @
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Question Number : 29 Question Id : 7512365629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Examples of photoautotrophic bacteria which capture light energy and transform it into
chemical energy to obtain carbon from atmospheric carbon dioxide are

L  Anabaena

I. Nitrosomonas
. Chlorobium
IV. Xanthomonas

5°08¥8Q (ol Srod 8 S8y TErdleod’ SHRAETE ol FEHeN o
508 Jqoho rad wﬁ%ﬂmﬂé} € O Sea .

I @SDS

. JE&&3Iroo
0. §&Dabao
IV. arofdroo

The correct combination is :
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Question Number : 30 Question Id : 7512365630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the Bacteriophage the arrangement of 1ts parts (Top to bottom) are as follows :
Head containing DNA

Sheath

Collar

Tail fibres

Base plate

<HEE "

TEOTrTrES® ermen (28 Sood Bodd) SdGomr wBdda.

L DNAZOAS do

I &

. soé

IV. &8a%en (b

V.  ardseso ‘\/
Dy

The correct sequence s :

2
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Options:

, LIVILLV 45?
>, ILLIV,V.III ,éb

. LILIV.ILV

, LILILV.IV

Question Number : 31 Question Id : 7512365631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To determine the genotype of a tall plant at F, generation. Mendel crossed the tall plant
from F; with a dwart plant. Mendel called this phenomenon as :

Fo5088 Srdor 308, absgirsssss AErboutrds, Hods Fidrdsss 3n8, 8 3088
Hof8mo 20, Doods & éﬂéﬂgéﬁs‘ﬁ) Qo ST !

Options:



Heterozygous

5]5':1&330&33:"?@{330
1

Homozygous

E’&S’JJDU’JJF?E:D
Test cross

585 Hoddmo

Allele
a%o0f) DEWYHD
4 v

Question Number : 32 Question Id : 7512365632 Question Type: MCQ Option fflivig : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a cross between homozygous recessive and a he gous dominant, the phenotypic
and genotypic ratios respectively are &

&

DSz woddd Hobon @-écﬁsoﬁwﬁé@@ Gy 080880 0" Syigdrd Sodasw
23058 AyBen HED/m

Options: @v
1:1and1:1 %
A

1: 1 &sbeiad 1.2 1

Yo land 1:]
2 155bass 1 1

all are dominant phenotype and all are dominant heterozygous genotypes

@5‘.}1 zai:'*gé ﬁgégd:‘n#m IsSlelovhy @@i e:’é.:'ﬂgé Ec‘(:nmo:’mﬁéﬁ amgdﬁ#w

all are recessive phenotypes and all are recessive genotypes

@&h @aégé cﬁ;}%’gaﬁrﬁ*m S38030 E?}l @uégﬁé aéagtiﬁﬂﬂw



Question Number : 33 Question Id : 7512365633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following groups present at every nucleotide in RNA?

RNA &0 58 $rg8@rBi s’ & Bod o8& J DHnmairos ¢rotren?

Options:

2' —OH and 3' — OH groups in ribose
SR 2' —OH Hodoin 3' — OH Sdwaroiren

3'— OH group in ribose
85’0’ 3' — OH Sdwarodo

Uracil group

O
. cSoored Ddomradio QN
V
—CH; group é
O

— CH; d50meado

4_ R

Question Number : 34 Question Id : 7512365634 Quéstion, Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati \rtical

Assertion (A) : DNA 1‘ep]jcatim@0nti1mous on leading strand while on the lagging strand
it 18 djscoutm‘q{l. :

Reason (R):  Thisis because. DNA polymerase cannot mitialize polymerisation without
a primer.

g (A): DNA 0858 38 $Tddd P’ wIYPFe 50 28 INE28N FSeS®
iﬁﬂt:].‘\’?lo.
o (R): 28 Jodogod, DNA FO55-38 Hokédmo CEL’DS SHod Indosd

5t2d.
[-%]

The correct answer 1s:
DS BHTEEK:

Options:



Both (A) and (R) are true. (R) is the correct explanation of (A).
; (A) 5000w (R) eo Bodor $05082. (A)S (R)H650sS Jbde.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
5 (A) S0805n (R) o0 Bodsr 883052, 570 (A)Se (R) £853:8 D8 5w

(A) 1s true but (R) 1s false.
5 (A) 2063858, 570 (R) 30653058 sd.

(A) 1s false but (R) 1s true.
, (A) 208056 56, 52 (R) 905036,

Question Number : 35 Question Id : 7512365635 Question Type: MCQ Option @ : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
In a translation experiment. two different mRN As‘z’@ different nucleotide sequences.
mRNA l-S'AUGUUUUUAUUUUUAUAAUKQ G-3'and
mMRNA2-5-AUG UUCUUGUUA UUU UA(@)’U UUACUU-3

are used. Which of the following statemen{is fiue.

BT [HABrHoS, Bods I8 é@%ﬁ_@ 58%EH00 e Boks I8 MRNA ol
T80, O

mRNA ]-S'AUGUUUUUAé&U UUAUAAUUCUUG-3'.

mMRNA2-5-AUG UUCUUG UUAUUUUAGUUUUUA CUU-3

& 1808 Trgpges’ I8 JHOFSs.

Options:

Both mRNAs code for polypeptides having same molecular weight.

Sodo MRNA en 2.8 woogrdo e FODPMOR Sos@redy Srdowrow.
i =

mRNA1 codes for high molecular weight polypeptide than mRNA2.

mMRNAL. mRNA2 08 JB0) % weaverdo He ﬁ”@?}%i&hé& dosgo 2dg08,.
23



mRNA2 codes for high molecular weight polypeptide than mRNAL.
mMRNA2. mRNAI 08 289.$ woogrdo Heo FOD I Dosdo RN0H.
3
Molecular weight of the two polypeptides coded by both mRINAs can not be compared.
Sodo MRNA © d08ere mor IS POV ©0erT ) FyBEw.
4. B e

Question Number : 36 Question Id : 7512365636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For transformation of recombinant DNA into plant cells using biolistic method. which of
the following micro-particles are used.

Ddsvodres DNA 0 3wg) o Seorod a8 H85850 JooFT V8 TC wBrOgs ﬁﬁég@ﬁ
& Bod o dorg¥ere (microparticles)d Tderds? g

Options: : N

Silver or Gold

1 J0s B8 omrdo @/&%
Platinum or Silver @CJ

, &oi$S B8 308 ((/?~

Gold or Tungsten &%

noimrdo 88 é&oﬁ%ﬁ
=

Platinum or Gold

%r&ﬁr‘ﬁﬁo SE momrdo

Question Number : 37 Question Id : 7512365637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which palindronic sequence is recognised by EcoRI restriction enzyme?

D FDE'IE seovESres EcoRI BRES ISEHS MHfoiateco?

Options:



3'-GAATICS
5'-CTTAAG?Y

51‘

51

—CTTAAG-5'
—GAATTC-

—CAATT G-
—GTTAAC-¥

—GITTAAC-5
S'-CAATIG-3'

Question Number : 38 Question Id : 7512365638 Question Type MCQ Optlon %g Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

A)
B)
C)
D)

A)
B)
C)
D)

Lepidopterans
Coleopterans
Dipterans
Corn borer

¥

& 808 wﬁémé:aéwééSSEED

s8¢ -1
R T
FOTrYT )
8207

58T 86

The correct match 1s;

ﬁ&@:é 23

Options:

Q

&ql{lst 11

&

iy

1)
V)

V)

1y

V)

CryITAD

Flies, mosquitoes

CryIAD

Tobacco budworm, Army worm
Beetles

wedg - 11

CryITADb

&ilen, e

CryIADb

Lo’ wbardn, edoras
H&3&) (Beetles)
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(D)

(D)

(D)

(D)
I

Question Number : 39 Question Id : 7512365639 Question Type: MCQ Option ShL@ : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Match the following lists : Q\’
List-1 List -
A) Cow Pea Pusa Komal I and fruit borer resistant
B) Clulli Pusa Sadabahar ) /stant to bacterial blight
C) Brassica Karan Rai esistant to tobacco mosaic virus and
leafy curl.
D)

Okra (Bhindi) Pusa Sawani Q/ Resistant to white rust

% V) Resistant to leaf and stripe rust

& (Bod S8Bod 288rg0d ¢

A)
B)
C)

D)

5658 -1

5¢38 -1

T YFES
DES GrFOT RS

ETres” E8Trodd

Bod PIFOTD

The correct match is:

ﬁ&@aiﬁ 2368

53¢ 11
D) ©5odo 0080 poo FoF Pihe ITEES
rE005S BEK ITEES

2 =

Do Avwrons o8 Hobddwn

RN ESB ATHES

IV) B8 ol 8henss IS EES

V) &g 508050 orde Ssodod fenso A5 EEE



Options:

A @ © @O

, I 1T v I

A B © DO
s I ¥ W W

@a @® © O

s B & % @

Aa @B © @O

.Y W I i

e L Ui st Qut e e o @v Y il Qusin b e
The infectious diseases which are emerging in ﬁ%’
L Severe Acute Respiratory Syndmme
.  Dengue Fever O
M. Mad Cow Disease @

IV. Tuberculosis Q/v
2o LIES wolnargiio K&@

L 22008 e85l s00d dog'ss
I Borrg o

I 5268 agd

IV. &ogebsoges™®

The correct combination 1s:
ﬁ&@:)c‘f} Eeons:

Options:
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1.
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Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Species 1s a breeding unit.

Reason (R):  They are reproductively isolated from the individuals of the same species.
APEEcS0 (A) 1208 28 D23 S0 Q'\'

o (R): o2 o8 =8 g0 od ((hsasdor J588 Bod dolron

The correct answer 1s < @,
50D HITGBH0 @

Options: v
Both (A) and (R) are true an%jgé the correct explanation to (A).
(A) 508030 (R) en TodoAd8hdd. (R) @38 (A)S S0G8s 258k,

Fere

1
Both (A) and (R) are true but (R) 1s not the correct explanation to (A).

(A) 58050 (R) 0 Bodr 8053059, 52 (R) @36 (A)f #8508 58m 576b.

(A) 1s correct but (R) 1s wrong.

| (A) 66058, 50 (R) 656 w°6o.

(A) is wrong but (R) 1s correct.

, (A) 38058 596, 52 (R) $6g3056.

Question Number : 42 Question Id : 7512365642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set-1 Set-11

A) The black buck

B) Kashmiri stag

C) Pygmyhog

D) Siberian Crane

Grus leucogerantis
Panthera leo persica
Antelope cervicapra

Cervus elaphus hangiu

s2HE®

Sus salvanius

Bod T7AQ 228D8thdw.

2e38 -1 238 -11

285 -1 2085 -1l
A) By =08 I) @0 evr§305S
B) 51%’&5 €395 1)) :’)"c@“ dBrDY)5"
C) Dbz Sob IT) eSS DOsF
D) %hocsr ol ')%g;ﬁ DeraSS ok

@ S5 PSS
@,

The correct match is @
¥ S'Bo Q/Q

Optio:; : &%

=
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e

A B € B
s M K NV 1
A B € D
- ¥ L i
A B 2 D
= T (E | i3

Question Number : 43 Question Id : 7512365643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Bilaterally symmetrical animals are less efficient than the other animals
in seeking food and locating mates because of cephalization.

Reason (R):  Cephalization is developed in bilaterally symmetrical animals.

gy (S):  ExdGg RS modden eES DS5NIYSS”, BoNHEID DEEYBE0S,
S8 2ho Eoll SEYS dSJgSodom & otrow.

s*¥eo (R): Berdyy RS 2odhHod' Y 5;@} Fob Gotuod.

The correct answer 1s
maggoeé PSP ST AR PR ES)

Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).

| (8) %000 (R) o0 Bodr 50805, (R) €36 (5)&@5@5 DS5Eeo.

%

Both (S) and (R) are correct but (R) 1s not the qot%t explanation to (S).
_ (3) b0 (R) & Doz HOGSI. 59 @&& (S)8o %8S IS8e .

(S) 1s correct but (R) 1s not cmrect.@cj

, () %o56, 52 (R) $08H:a 3

(S) 1s not correct but (R) 1 {4
(8) 28530858 5280, 50 (R) 9863038,
4.

Question Number : 44 Question Id : 7512365644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following;

A)
B)
O
D)

§o&

A)
B)
C)
D)

Set-1

Prevent leakages of body fluids between cells
Provide cytoplasmic channels between cells
Act as rivets in binding the cells

Attach bones to other bones

4828

wids -1

wis -1

Sere 0Py 08 Eoren s78som AT QodT IS
Sere Hody Slsy Bogeds IEHZT8

Serodn woboddos’ dAL o b hteh

s288°®

&
The correct match 1s @Cj

3808 SEoH

Options:
A
1. I
A
I
=
A
z I
A
4, il

B C D ,@
E 1 %
B C D
m I N
B C D
1 V N
B C D
I I I

Set-11

Gap Junctions
Ligaments

Tight Junctions
Anchoring Junctions
Tendons

2e38 - 11
wodd Dodoew
205w
D) oo
20PN Dofoen

myodan 230 8ME00

Question Number : 45 Question Id : 7512365645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to Platyhelminthes:

These are the first bilaterally symmetrical triploblastic animals.

They have pseudocoelom which acts like a hydrostatic skeleton.

Hooks and suckers are present for attachment in parasitic forms.
Fertilisation 1s internal. development is indirect with many larval stages.

ONwWwe

Q?éﬁﬂm@@&ﬁf&é} 0200800 S80S Trgpgeods Hofourdn.

A 23 HEH Bl RS (BJBE 2o Hheow

B. =03 am%@§ @E{gi}o%do el DT TS éééé&fm@"@l O/ Srodron
C. Do) 29os” vdh§)S@TI8 T o, wotndeoo wolrawn

D. @od88debidn, ol HoLlE Siad H6°E @é)é’);}%

Options: (\9
. AB&C Q

, AB&D A
&

. A.C&D @
, B.C&D Q/?‘

Question Number : 46 Question Id : 75123 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienvation : Vertical

[dentify the correct statement with reference to *Earthworm’.

TS Sowobod S80S argpgodo Hagowlbn.

Options:
Male genital pores are present on the ventro-lateral sides of 18 segment and female
genital pore on mid-dorsal line of 14™ segment.

QDR 238 ogren 185 pobdld) wis-Fosorod’, @.‘g 20 Jogo 145 possy)

at,

Synde Sy B Gotrramn.



Male genital pores are present on the ventro-lateral sides of 14™ segment and female
genital pore on mid-ventral line of 18% segment.

DR 230 Jogren 145 poldd edd-Fddorod’, é&o 2290 doo 185 poddy

Gddde Sodg 33;3@:-_ oo,

Male genital pores are present on the dorso-lateral sides of 18™ segment and female
genital pore on mid-ventral side of 14™ segment.

QA 23 Sogren 185 poddd JHR-Fodorod’, @uﬂ 208 Joo 145 poddy
Gddde 0@y Sow wodrow.

Male genital pores are present on the ventro-lateral sides of 18" segment and female
genital pore is present on the mid-ventral line of 14® segment.

238 Sogo 145 poddy

9ot w38 Sogren 185 pobssl &85-Figsore
Gidde Sofs Spw olrow. @'
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Question Number : 47 Question Id : 7512365647 Question Type: V@Dption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with ref&e€rice to Urochordata.

on W e

o

Circulatory system is closed

Atrial cavity 1s lined with c@fm
Notochord is cc-nﬁnegl{@e tail only.
Burrowing mode of life’

CLrGEgirty Soofod K0S Frgpgesy Hiohiw.
A )3 I8 Dohd TEDITn Ig0R wotuod
B. JEoHhS soirdo 2irysod’ ©500d wotnod

C. HRboddn &'68 Im@d H0NSPH otnod

D. ®esd 258 aogeo

ptions:

A&C

1.

A&B

2.



. B&C

, C&D

Question Number : 48 Question Id : 7512365648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

SET-1 SET-1I
A) Procoelous I) Caecilians
B) Amphicoelous M) Mammals
C) Opisthocoelous II) Amurans
D) Amphiplatyan IV) Urodeles

Bod SN 2SDES50.
I

5K - §§'?H
A) HEH8 &%&@@5@;
B) o CJ% §6oren
C) %oy @ M J&rgsSeo
D) egcdodeo U V) sorstsew
&

The correct match 1s ,@
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Question Number : 49 Question Id : 7512365649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is a “Protein motor molecule’ of a cilium or flagellum which
helps the microtubules to slide for bending movements?

& 8ol TAS” ) U Tro¥ vl 308 S5 Erded” ol WrHTdio So
B8 SFtchndodoh?

Options:

Tubulin

52080
O)
| QY
Dynem (\/

28 &
Nexin @Cj

s S

Myosin
K2

SoBrae

Question Number : 50 Question Id : 7512365650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set -1 Set- 11

A) Hologamy I)  Paramecium
B) Multple fission M) Euglena
C) Homothetogenic fission M) Trichonympha
D) Symmetrogenic fission IV) Plasmodium
Sod IR 2RSDBLDL Sw.

588 -1 288 -1
A) SR ) 2&fabo
B) adve a9)8 I arjo
C) F3r3s'a35 208 m &5y
D) a30s*RIE 2D V) (@'ﬁaﬁc

The correct match 1s é
DO E'doYy &)

Options:

A B C
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« ¥ i 0w

A B © D
.V I I m

A B €
L, I IV I

Question Number : 51 Question Id : 7512365651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the enzyme secreted by trophozoites of Entamoeba hystolytica to dissolve the
mucosal lining of the intestine of man.

DO ET iﬂ%’@f‘ﬁ? Bo8), FAEIFTwo & |Fol TE3e5” aogﬁom PR SrIPHR Db
8050’ Eﬁ&?@l BOAR0LIIN
Options:

Hyaluronidase
Trofoen&ARE

Histolysin
TYBHS

Acrosin

DEDS

A
Renin CJ@
, 05 @

Question Number : 52 Question Id : 7512365652 Q&] Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatian : Vertical

Nocturnal periodicity 1s eﬁﬁ‘lsjted by

ATrFe widiod HEsods:
Options:
Trophozoites of plasmodium
; FIYBa0 FRESTe0
Sheathed microfilaria larvae of Wicheraria
e &500 o So08), S ariie ?ﬁo@%@&cﬁr Gogisren



Sausage shaped larvae of Wuchereria

& $BOalr B, F oS usd Sodsen

Sporozoites of plasmodium
FIRBaDo Bg), FEE wIEws

Question Number : 53 Question Id : 7512365653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following drug is extracted from the dried latex of the unripe poppy plant
seed capsule?

T B0E) ©H0HE] B HPE BwE) Jodd STE) Hod & §od TISQ 2 Dok

0EOFE? (b
QY

Options: (L
Heroin &

ot .@

Cannabinoids @
EI DT 00 E) J
o %
Morphine &
;’)J“E}QE
3

Cocaine

8w
o

4,

Question Number : 54 Question Id : 7512365654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Appendages are absent in the following head segments of Periplaneta:

W0FIir S0 & 1§ob Ppoderod” Gromrey ol wolrow.

Options:



Firs

t & Second

0088 & Bodks

First & Third
o068 & HordS

2.

Third & Fourth
- Sords & J“t%:é

Second & Third
Bodsd & LHrEs

O

Question Number : 55 Question Id : 7512365655 Question Type: MCQ Opti fling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are true wi Q{ect to the circulatory system of

Periplaneta americana? @
A Heart consists of 13 chambers.
B. Haemolymph brings oxygen from ae and supplies to different organs.
C. Contraction of heart chambers the blood to flow into aorta and from there in
to sinus of head.
D.  Alary muscles facilitate th@w of blood through the heart.
DOFIr o5 CERNdn S5Ht Sonofol & 1Bod dgpged” SEENI D2
A Iydobo 13 Ko §8A wodd
B. ‘8§ $48%0 srdfnaree $0é S [(iIred DG wichareds HEHor Bodnid
C. %08 #dhe D08 U0 H0 HoBS A J80 FEIIS'E HIT70d e & Sood 0D
FLoR8 (B350
D. 8% %08 TN0° BHroSTIE HTFE SodTren HIEsTow
Options:
, A&B
A&C
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Question Number : 56 Question Id : 7512365656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

D

C

Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set-1 Set - 11
A) Testes D) 7.8.9" abdominal sterna
B) Owvarles m 4- 6% abdominal segments
C) Mushroom shaped gland II) 2 - 6% abdominal segments
D) Genital pouch IV) 6. 7% abdominal segments
808 TR wdBBHEw O

588 -1 @%’ I
A) Do en K(]’f 8.9 &88 &sUbusen

B) Cﬁ D aen 4 5008 6 &858 podoren

&

C) HLYFDH us°8Y (Hod @ ) 2508 6&88 podares

D)

The correct match 1s

258 Fh%o Q/v
K2

50608 R0

Options:
A B € D
, I v I 1m
A B € D
x> o W W 1
A B C D
E I 1 vV

IV) 6.7 &&8 podaren



Question Number : 57 Question Id : 7512365657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Doubling of metabolic activity with every increase in temperature by 10° C 1s called

©8 10° C o &8 DhhEes 58S i 3o BYH0E BOD AaHBHosw:
Options:
van't Hoff s rule

> 59 daprdoo
1

Allen’s rule

o)
Bergman’s rule é
BEIrS AoRB00 C)

Jordan's rule Q/?“
. a?q:ﬁ a3 00 &%

Question Number : 58 Question Id : 7512365658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

Set-1 Set-1I
A)  Mutualism [)  One species is harmed and the other species is unaffected.
B) Commensalism II) Both the species are benefitted.
C) Parasitism IIT) One species is benefitted and the other species is neither
benefitted nor harmed.
D) Amensalism IV) One species 1s benefitted and the other species 1s harmed.
& 1Bod T8 28080T0R%0.
2838 -1 S8 -11
A) edgargEcd D a8 =& é%éé&i’wo& [elel ol
SEB5S0 Jerols HErHo Godkd
B) éfmaﬁiagéﬂgo ) DBodk zrdsen o FolHaE;
C) DHod) €380 ) =8re orabdodes, 6(3\50 T8 $HFS
Sa el (1/
D) dJoad=0 V) of o8 mﬁméwa. Bods @8 SHFS008
The correct match is CJ
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Question Number : 59 Question Id : 7512365659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Increase in the concentration of a pollutant at successive trophic levels in an aquatic food
chain is called

8 sFEY Toodod” slgdad mEd o FUSPow ol H&E FaEFons
DEKHErTE T

Options:
Biodegradation
@ S RRAN
Eutrophication
, ORI Er I8 AR

Bio-remediation ,\9
2B DBES (l/Q

3.

Bio-magnification

£5 e38S CJQ//&
| m @
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Question Number : 60 Question Id : 7512365660 Q@ﬁ Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien%n “WVertical

A



Match the following:
Set-1 Set-1I

A) Glucose I)  Facilitated diffusion
B) Long chain fatty acids I) Secondary active transport
C) VitammB,, IIT) Formation of Micelles
D) Fructose IV) Castle’s mitrinsic factor
Bod S8R 28580805%0.
o38 -1 =838 -11
A) nrfE D) ®eogy argddo
B) &§fope 8 edren ) &gdai HBcsh e
C) JLXs By, ) ZvBew a0
D) 58 V) 586 '}Saﬁ S0

The correct match 1s

A
$S0G0S B0 QQ/
o S
" c DY

B
I I v

A B
s O I I

Question Number : 61 Question Id : 7512365661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set-1 Set - II

A) Emphysema I) Lung infection caused by bacteria
B) Asthma ) Damage to alveolar walls by tobacco smoke
C) Siderosis II) Tron particle deposition in lung tissues
D) Pneumonia IV) Inflammation of bronchi & bronchioles
8ol T BB,

eI -1 S8 -11

288 -1 288 -1l
A) doPodr ) «rS0cir dogdmo So 088" SR Tgh
B) wadargd ) orhgrido S0 Tradnfro Mo IRoPHs 0w
C) DHEFHD ) &=Heado §Eaza‘@ﬂ&3”§ioéﬁema§)m TFodaddiwdlo
D) Ssrglerdodior IV) axdardo, %"5&5"@5% ) bdﬁj&éﬁ}@
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The correct match is &
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Question Number : 62 Question Id : 7512365662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : During blood clotting, soluble fibrinogen is converted to insoluble mesh

work of fibrin.

Reason (R):  Factor XIII cross-links fibrin monomers by replacing covalent bonds with
hydrogen bonds.

g (S): EE,088 HBoReS® 88A AT eS B8 PAR Som SrdyBodlo.

sdwo (R):  sd8o X 350Bradch woprodh E°Es wo05ream Srdde: R0
3T oo wBT 20dLL.

The correct answer is
2B SIPGESW
Options:

(S) 1s not correct but (R) 1s correct.

O
(8) H8&86 5%, 5 (R) H65058. q/Q\’

Both (S) and (R) are correct.

&
(S). R) e Bodkr $83305D. &J
(S) 1s correct but (R) 1s not co@?

_ (S)vegHss, &0 R) E’JE‘@ 5.

Both (S) and (R) are correct. but (R) s not correct explanation to (S).
(S). (R) Bodor £053:80. 50 (R). (S)5 505308 b8 5.

Question Number : 63 Question Id : 7512365663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Facultative reabsorption of sodium ions and water takes place in

A, Fhoho wdiraw SENE YxT e oo & WaFos® Faothsadaron.

Options:



Proximal convoluted tubule

BB Hod9s 9%

Distal convoluted tubule
ST HoS8a 95

Ascending limb of loop of Henle
TREg w8 98

Descending limb of loop of Henle
R3E; w8 98

4 (b

Question Number : 64 Question Id : 7512365664 Question Type: MCQ Ojitign Snuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical &

Match the following: %
Set -1 t
A)  Condyloid joint I tween Atlas and axis
B) Pivot joint @Bemeeu carpal and metacarpal of thumb
C) Saddle joint Between occipital and atlas
D) Gliding joint ,@ IV) Between Inter-carpals
§oB TAD 2SBHBo B
wdg -1 wedd -1
A) soGerond Sen ) 38860, wggitso Sudy
B) &Soldd Sen ) s JeoosD éﬁ@%? Soefnogo Hodg
C) 45 8exw IO) 25580, wfolred Sodg
D) =3 Sewn V) é&sﬁa&o@n?“@gﬂ: S8

The correct match 1is
2OGS S&oH)

Options:



A B
; & i
A B
, I I
A B
. II I
A B
, I I

I\Y I
C D
I Y
C D
II \Y
C D
I Y

Question Number : 65 Question Id : 7512365665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) :

Reason (R) :

g (S):

80 (R) :

An action potential occurs in the melnbrmg:%’ the axon of a neuron due to
influx of Na" ions. Q

The action potential occurs whep theldepolarisation reaches a threshold
potential of +55 mV. é

©hE Jopgd” FPhoo LRI T&EoS’s (P08 g0 T3] &%
So|ETEY) iio a‘ﬁowfﬁ'ééo A& 08
IR JhHee FNFTG FEo +55 MVE Th&od® edvds §airig)o

b{ﬁgé&é&o&: &% ’

The correct answer 1s

HOG0R SEPETEE

Options:

Both (S) and (R) are correct but (R) 1s not correct explanation to (S).

(S) 50805 (R) &0 ok 56508, 5 (R) &38 ()& ¥8508 D58e 57,

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S) So8asn (R) en Bodr 306080, (R) @38 (S)5 D050 Dbdes.



(S) is correct but (R) 1s not correct,

(S) ROTIH, 57 (R) 58653058 576,
3

(S) 1s not correct but (R) is correct,

(S) 885058 5%, 522 (R) HEBSB.
4,

Question Number : 66 Question Id : 7512365666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Cortisol 1s a “Stress combat’ hormone.
Reason (R):  Glucocorticoids stimulate gluconeogenesis lipolysis and proteolysis.

g (S): oS af 288 dod Pt
sdmo (R):  ArfsgsronGon Kr8adradnt, ga@ﬁ FEBrSHR (§odowidd

The correct answer 1s
20338 Bdrprdsm C@
Options:
Both (S) and (R) are correct but not a correct explanation to (S).

(S) H08050 (R) w0 Sodr S8R, 570 (R) o386 (S)80 $808 e s&.
1,

Both (S) and (R) are correct and (R) 1s a suitable explanation to (S).
y (S) Hodosn (R) en Bodor S0, (R) @38 (S)& 2000d d58w.

(S) 1s correct but (R) 1s incorrect.

() %6058, 5 (R) $550358 5750
>

Both (S) and (R) are mcorrect.
(S), (R)Bodsr $6530:8D 5.
4.

Question Number : 67 Question Id : 7512365667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Hyposecretion of vasopressin and insulin results in and

TR (DR, YO FG o0 voyIES Jod : Trgeoen
000,

—i

25

Options:

Addison’s disease and diabetes mellitus

©B3S T30, BSrBES BHOLS

Cushings syndrome and diabetes insipidus
gonof) woi@ e, $airadlt [ueNte
2.

Diabetes insipidus and diabetes mellitus (b

SCirddn Yeoude, Eciradin FoLe Q\/
3 - (1/

Hyperglycemia and diabetes mellitus é

56 BodiE, ErBES BOLS
4 % : @

Question Number : 68 Question Id : 7512365668 Q@ﬂ Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien%n “Wertical

Which one of the following antibodies is present in the colostrum of the mother to provide
immunity to the new born baby?

& Bob TIST D PEBFEN Y FSPHS $0d $Herd YK FAISEESSH
BEr 53062

Options:

IeG
1

IgD
5 P

IgA
3



Question Number : 69 Question Id : 7512365669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cervical cancer 1s caused by

ﬁﬁ;%’oﬁo S8 5750 & Sod Sxob.
Options:
Herpes simplex virus

TR BoDE) BS

Human papilloma virus

S
SrssS FRSTEr BOS ‘\,Q

Treponema pallidum C)@
(FFVEr FOES @
Human immunodeficiency v%g/
Sorgdon RBo0gS BRwcdy )

4
[

Question Number : 70 Question Id : 7512365670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1 Set-IT
A)  Surgical contraception in females [) Vasectomy
B) Natural contraception M) Copper T
C) Surgical contraception in males I) Lactational amenorrhea
D) Uterine contraception IV) Tubectomy
ol A0 2dDHoIhHw.
w38 -1 wtds -11
238 -1 2835 - 11
A) @:ﬁﬂa’i‘ I3 N8y Soed JTEEE D Sg
B) & (5Q5CES I s&6'T
C) Hhdvods Q08 doard AGEES %@&5 B3og SO
D) fopdcsh Boars AE'EES (@ & sBED

The correct match is Cj@

50G0S FE0Y @

Options:
A B & D Q/?~
. & I /@
A B C D
, N I I i
A B 5
.\ I m I

A B C D
I II I\Y It

Question Number : 71 Question Id : 7512365671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Rh incompatibility causes ‘Erythroblastosis foetalis’,
Reason (R):  Erythroblastosis foetalis is not due to haemolytic anaemia.

agwg (S): RhsdE ods Hogd 9 0ETPIR Hrdd I )E0d.

o2

o (R): ‘Q0S%rydd 2&rdd rirgdf eddidir So Jdydd.

The correct answer 1s
HOS Jdrerddn

Options:

Both (S) and (R) are mcorrect.
(S). (R) Bodsr H6a3059 5°).

1. g
Both (S) and (R) are correct and (R) 1s a suitab %} anation to (S).
(S). (R) Bodr $85082. (R) (S)d ﬁacws\:mﬁaa.

& C)

(S) 1s correct but (R) is incorrect. @

. (S) B8, 570 (R) Eﬁ&@oé% .

Both (S) and (R) are con‘eé@ (R) 1s not a suitable explanation to (S).
, (S). (R) Bodr 03050, 50 (R) (S)sS80 $8g808 Ik 5.

Question Number : 72 Question Id : 7512365672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1
A) XX-XO I)
B) Z0-Z7Z7 1)
Q) ZW-7Z7 1I0)
D) XX-XY V)
$o& AV 2EDGthBD

588 -1
A) XX-XO I)
B) ZO0-Z7ZZ 1)
Cy ZW-Z7 1)
D) XX-XY V)
The correct match 1s é

HOGHS FE0Y &)

Options:

)
w
9

Y i Il I
3
A B G D
\Y il I
4,

Question Number : 73 Question Id : 7512365673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Set-1I

Fumea

Reptiles and birds
Drosophila
Grasshopper

288 -11
s oo
S8Jyaren, Hgoew

(&Y
@V



Down’s syndrome is a genetic condition that causes delays in physical and intellectual
development. The cause of this genetic disorder is

FIVE D o3 o8 2dgpd TOOE, IrJ08 wPIH Sotodtbiy TXos. & adg
wBRES 58w,
Options:

The partial deletion of the short arm of chromosome 5 or Sp monosomy:.

55 F3rE° NS Y IS’ Fodario Swoddo B SP eSS

The presence of three copies of 13% chromosome in each cell in the body.

G50t PaBadndotn 135 Farsto Soedo (3)
% (b
The presence of an additional copy of the m Ql chromosome (Trisomy 21%)
21 § 28 FarSnE i wbdom :&aé‘é&@ wodbo (215 Fars'S |B')

wéoen wokdo

The presence of an extra copy of the getietic material on 18® chromosome either in
whole (Trisomy 18) or in part (due t nslocations)

18 & FRrsan wdd) 198 & 185 F3r&'% om0 (B 18) 3ny
FEsomr 3 {%Foéd éo*d@] Goddo Jo JoPIJod

A

Question Number : 74 Question Id : 7512365674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

b



Match the following:
Set-1 Set-1II
A) Coacervate theory George Cuvier

B) Theory of Catastrophism Louis Pasteur

SHEE®

C) Theory of Biogenesis Plato
D) Theory of Abiogenesis Lamarck
AL Oparmn
Bod TP 280808 D0.
2e38 -1 w3 -11

A) EETE oI oo

E]J.j
9

2
o Onm

B) @dohéd; agedo
C) 2@Era3vD dodo 1) @7’
D) oﬁrcﬁ;}ibtjé Sy PEodo (1?‘333“5&

@ AL w85
O

The correct match 1s @
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Options:
A B E &

D
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L1 W IV
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s ¥ I T &
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Question Number : 75 Question Id : 7512365675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct factors with reference to Neo-Darwinism
Reproductive 1solation

Genetic recombination

Struggle for existance

Natural selection

Onwe

QBrE 820 S8 Howodod HOWS s78srod Hiotod.
A @DSgS8 58S

B. adg Hd:doBdraaw

C. Dodond Bdo doreso

D. ©@5®858=0

Options:

o
AB&C N
Dy

) AC&D

. B.C&D @
. A B&D Q/v

9

Question Number : 76 Question Id : 7512365676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :

Set-1 Set-TI
A) Disruptive selection I) Lucky survivors after the calamities who are
genetically different from their original population.
B) Directional selection I) Weight of the new born babies in England
C) Stabilizing selection ) DDT resistance in mosquitoes
D) Bottleneck effect IV) Darwin’s finches with different shapes of beaks.

Bod AN 2D Bw.

5638 -1 5688 -1
A) I8 S0 D ©5)8 38bego 058 288, aloghdor ¢

SroaTerd BHAS edypdHen
B) &a3diweg S8mo ROMOsS” 2PN Sdrd 3DJo 28I

&%es® DDT & 9 -@rz@,

&85 Hois ﬁ/@d‘ 208 EE08 §aS
Soodo) 0

A

C) 2088 S8e0

S B 8B

D) o&EIF (Do

The correct match 1s

50608 S°A0D @
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A B C D
4 1 I I 1\

Question Number : 77 Question Id : 7512365677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In induced breeding of fish. the agent that 1s injected into brood fish to induce release of
spawn is

DI0S” (288 Pasds dHooed’ & 570E) e IEL BowoHs SO prd BHS QS
R0B§ Do,

Options:

o - lactalbumin

0 - T OND

Ovaprim
L@

o - Antitrypsin

Y
o - SoBEHS q/Q

Propolis é
4 |FFOD @C)

Question Number : 78 Question Id : 7512365678 Q 'ogType: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiol tical

The main diagnostic applicg{g@f Electro Encephalo Graphy (EEG) 1s

o SIS e (EEG) dwg), 35d doirmps eddgso

Options:
Myocardial infarction

| HAFEYHE 25FELS

Epilepsy
| 203



Blocks in blood vessels

STreod’ly a8 T
3

Aneurysi

@-2‘6@56 23000
4,

Question Number : 79 Question Id : 7512365679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cancer cell exhibits all of the following characteristic features excepr.
57595 Beaddn & §od o8 ofmo &3 A0S vhofdnod HEGNOH

Options:
Absence of cadherins '\cfb
3¢ 05w S*hote Q,Q

1 A

Failure of cell cycle regulation C)@
Seadl|f odoges IDwgo @
25 Q/?.

Anchorage dependance %

ol esrdo
3

Damaged apoptosis pathway
B &) (@errdFad Sododn D80
4

Question Number : 80 Question Id : 7512365680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Gene therapy is the insertion of genes into an individual’s cells and tissues
to treat a genetic defect.

Reason (R):  In gene therapy a deleterious mutant allele is replaced with a functional
one.

TEWS (=) 22X0g D 8&) ol 2380g99) Hg§ Gy Segren, éeaea‘e.:‘*e.‘i@ How g ard)
SlsEntovetatol

sd=o (R): 2AgUEGS” FPIBTIN w008 Bwiidsom) EaSrE)E 2dogyE
B&EghoEdo.

The correct answer 18
OGN ddrgrdBn
Options:
Both (S) and (R) are correct and (R) 1s the correcteRplanation to (S).

(S). (R) Bodk $5850:59. (R) (S)8 58508 :JQ;Q.

&

Both (S) and (R) are correct but (R) 15 a correct explanation to (S).
(S). (R) Bodr 853052, 570 (R SOod DB T,

2| Q/
(S) 1s correct but (R) 1s 11& ect.

(S) 56g058, 53 (R) 565056 s°60.

(S) 1s not correct but (R) is correct.

(S) 505058 w6, 59 (R) HO5SE.

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following statements about fundamental forces.

A)

B)
©)
D)

List-1

Gravitational force

Strong nuclear force
Weak nuclear force
Electromagnetic force

I) Has infinite range and can be both
attractive and repulsive

M) Weakest force but has infinite range

I) Strongest among the forces

IV) Responsible for radioactive decay

@8 wore Hiod &HMd S ddpdwod aEHCDIw.

A)

B)

C)
D)

588 -1
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The correct answer 1s
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Question Number : 82 Question Id : 7512365682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Ifthe velocity of light “c’. the constant of gravitation ‘G’ and Planck’s constant “/" be chosen
as fundamental units. the dimensions of mass in terms of ¢. G and /1 is

508 o ‘¢, HdE; Joroko ‘G SoBosw Fof Yoroso hT ol ITOE Birrrenm
AdnBood, (55078 den ¢, GBidi hdTos®

Options:

WK cH
1

WHhah
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] e C_% G/

O)
_ Q>
WichGh (1/
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Question Number : 83 Question Id : 7512365683 Question Typ(}%Opnon Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

The speed versus time graph of a movi icle is shown in the following figure. If “u” 1s
the initial speed at =0, v 1s the spee et, ‘a’ 1s the acceleration and “s’ 1s the distance
covered in time °#°. then total are%o is best described using,

(Assume O as origin)

H30d50S" ) &8 Bl H& 080w 5Toodd o [Tl §od Lo drdabdds. 1=0
58 R O 3& W, tvoo 3G TR 3& V), &feo ‘g’ HBakn f veod” HaSreiodd
&rgo ‘s” wowd, OABC 3wdgo 37ergd) §ob 8" BT &S00 D00 EHUR0.

.J'\ IB
Speed (m/s) :
S& & | |
1
|
I
I
G . rd I{S)
& =3l B 16

Options:



V=l Filk

T
s=Hi4+—alt

7
2
2 2
Vi=n"4 288
3
v = at
4

Question Number : 84 Question Id : 7512365684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
A ball of mass 100 g attached to a string 1s whirled in a hmiastal circle of radius 1 m and
at a height of 2 m above the ground. The string breaks aftepsonie time and the ball flies off
horizontally and hits the ground after travelling a 1101‘12011@'. tance of 10 m. The magnitude

of tension in string before the string breaks was (Let'gl5 10 m/s?)
Jo &00d 2mfes® 1 magrdorio 8§82 &6 HFos® o8 So&8 AAoNS 100 g

BSgorafe 008 AShE Som 8. 8§
Srdormr JAdTow, 10m & SS3r0dd
ook TSR Sdg8 D00 (g

K2

200 807l So|@ Bh 208 §822 dBrodo A8
) Boiredod) Jod e dsod. 0@ Biirds
/s’ S8 Kosn)

Options:

10N
i

15N
2

25N

3.

30 N
4,

Question Number : 85 Question Id : 7512365685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A ball 1s thrown in horizontal direction from a height of 80 m with mitial speed v,,. The ball
hits the ground with speed 3 v,. The magnitude of v, is (Let g = 9.8 m/s?)

w8 20082 80 m JEy H0od V,FO58E §8udSrodd HFST AVOTH. & wod Jod
3V, 588 Sihendiod. V,H05rm0 Jend (g=9.8 m/s*m S8 Hodwn)
Options:

10 mv/s

14 m/s
=

18 nv's

=
; 26 nv's \9
Q

Question Number : 86 Question Id : 7512365686 Question Type: MC&)tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : When a body at rest breaks@gévo pieces of equal mass. the two pieces
move in opposite directioiwyith same speed.

Reason (R):  Conservation of mo1

&

58850 (A) : E}éﬁﬂ?gﬁ@*éﬁo@s’ S%9Y Dol JIrd |@HgTHooie g o
DAV PR, Tod H08) e HE0EHTS” JIrS HGE° Halredrow.
5800 (R) : BSg3K Qegebodon

The correct answer 1s
HOGH HITFEHI0
Options:
(A) 1s true but the (R) 1s false.
1 (A) 38 d850 50 (R) 038 eddgsdn.

Both (A) and (R) are false.

(A) 0805w (R) en Bodr wdergen,
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Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(A) 508050 (R) o0 Bodr dargen 508050 (R) 638 (A) 8 $088 D5de.
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Both (A) and (R) are true but (R) 1s not correct explanation of (A).
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4

Question Number : 87 Question Id : 7512365687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two blocks A and B of mass 3 kg and 5 kg. respectively are connected by a weightless rope
and are kept on a frictionless horizontal plane. The block B 1s pulled to the right. with a
force of 32 N. The tension acting on the rope connecting the block is

S 3 kg S50 5kg@s5oate ASososy Bed &E\:Q%aréébé &S SoTSIED
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A bomb is kept stationary at a point. It suddenly explodes into two fragments of masses
1 kg and 3 kg. The total kinetic energy of the fragments is 6.4 x 10 I. The kinetic energy of
the smaller fragment is

28 Do 3G o &odS wrow, wiEym 1 kg Sdain 3 kg @dgorbeoie Bod
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The workdone by an applied variable force F = arx + Bx° from x =0 m to x = 2 m. where
v is displacement. and constants o= 1 N/m, =1 N/m’. is

w508 $owwo F=oax + Br’, x=0mS0b x= @dé@ S0 (Rl x @36
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Anobject tied to arope of length / = 242 m is allowed to make rotational motion. During
rotation 1t makes an angle 6 = 45° with the vertical axis shown in figure. The tangential
velocity of the object is (Assume g = 10 m/s?)

1=2\2 m 28550 676" 2080DS .8 5895 Fdarseso Boswirk edB8om .
D0 Grad JFom (FHowod' DHSyE 8 SNY JwP wEE B = 45° Fwo
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A solid spherical ball rolls down a synunetrical bowl. starting from rest at the top of the left
side (see figure shown). height */" from the bottom. If the left half of the bowl 1s rough and
the right half has no friction. the vertical height the ball will reach on the smooth side is
(Assuming ball rolls without slipping in the rough side of the bowl)
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A ball connected to a mass-less spring is executing simple harmonic motion. IfK and U are

K
the kinetic energy and potential energy respectively. then the ratio U when the displacement

of the ball 1s one-third the amplitude. will be
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A planet of mass m moves in an elliptical orbit around a star of mass M. The minimum and
maximum distance of the planet from the star is 4 and 4 d respectively. The angular
momentum of the planet relative to the center of the star 1s

mESgoaie wl whidrhn, Mdsgorito SEghn dobr &J Hamsd 885S° S endodi.
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Awire of length L and cross-sectional area A is made of a material with Young’s modulus Y.
If the wire is stretched by an amount x. the workdone 1s \9
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In a large water tank. open to the atmosphere at the top. a small hole is made near the
bottom of the tank. The speed of the water ejected depends on

o8 DG G ST GNdgosn Teidardd 85D ¢od, ) wddierio Daodod® w
D3 SoerQ) BT, Yoo $od Idzen ABHE BHITES' TID LEIdis.
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Consider a bubble of radius ‘7" formed inside a liquid with surface tension “y’. For the
bubble to be in equilibrium. the excess pressure outside over that inside 13

Y Soddd fo ol Bihn e, 7 agrdo o K JGEE) HoHBowaBD. Wkl
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Avrectangular plate of glass has length shd breadth 0.3 m and 0.2 m respectively. The glass

plate area is changed by 2.16 @‘5 m’. if its temperature is increased by 20 K. The
coefficient of linear expansi r the glass 1s

e: MCQ Option Shuffling : Yes Display Question Number : Yes
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A wall is made of three layers A. B. C. The thickness of layers A. B. Care L . 0.7 L, and
0.35 L, respectively. The thermal conductivities of layers A. B. Care K. 0.7 K, and 0.35 K
respectively. The temperature difference across layer B is 20 °C. If the temperature to the
right side of layer C is 10 °C. then the temperature to the left side of layer A will be

(Assume thermal conduction to be steady)

28 G A. B, Cod Sard 2dos Aowd. A.BHdah Codo Somes $dhsm L,
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A cyclic process on 1 mole of an 1deal gas is shown in the figure . The temperatures of the
gas at points A and B are respectively 200 K and 400 K. A total of 200 J of heat 1s taken out
from the system in the process. What 1s the work done by the gas in the process B — C?

(LetR=83JK ' mol™)
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During an adiabatic process. the pressure of a gas 1s found to be proportional to the cube of

; o C y .
its absolute temperature. The adiabatic constant [}x = C_P] of the gas is

v
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Consider a horizontal string tied at both ends and 1s vibrating in its fundamental mode. The
traveling waves have speed *v'. frequency ‘f . amplitude *A’and wavelength “A’. The amplitude

A
of the motion at points located at (1) x = > (11) 2 and (111) 3 from the left end of the

string are. respectively
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tther directly away from us or
receive 1s 10% higher than the
the motion of the star respectively

Consider a star emitting light of frequency /" as it mopes
directly toward uvs. If the frequency of the light th
frequency of light 1t is emitting. the speed and direczion

are (c 1s the speed of light) @
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A beam of parallel light rays from a monochromatic source 1s incident on a solid transparent
sphere of radius R and index of refraction 2. The point image 1s formed at a distance d from

-
center. The ratio ﬁ will be
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An unpolarized light is falling on a glass surface of refractive index 1.73. If the reflected
and refracted rays are perpendicular to each other. then the angle of mcidence 1s

1S 5708, 1.73 58558 Hrmbo Ho mardeood HES550 Boddiod. HorSES S08080

H8HS 88w wETITES wouom Goddddel, H85800 Jdend
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The radii of spheres A and B are ‘@’ and *b’ respectively. They are at equal electric potential.

If o, and oy be surface charge density of sphere A and E}@ectively. T
Q "
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A positive charge ¢ 1s fixed at point x = 0 and y = 0. and a negative charge -2 ¢ 1s fixed at the
point x = g and y = 0. The potentials at a point on the x-axis where x > ¢ and x >> a,

respectively. are [Assmne : . ﬁr]
4ne,
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A rod of resistive material of length L is connected to a battery with potential difference

12 V. The resistance per unit length of the rod varies as ' p(x)=12x Q/m where x is the
distance from one end of the rod. If the current in the resistive rod transfer energy to
thermal energy at the rate of 600 W, then the length of rod will be
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In the circuit shown below. ergy dissipated by all the resistors in 2 minutes 1s
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Two very long wires carry current 50 A and 100 A and are separated by 20 cm. The magnitude
of the magnetic force acting on 1 cm length of the wire is (Let u, = 47 = 10" Hm™)

Body ©8 FEIS Sren E¥TUFES 20 cm ZSUD&D £0A go& 50 A Sobcho 100A ©
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A particle with charge 1.6 » 10~ C is moving with a velocity of magnitude 3 m/s in uniform
magnetic field of 2 T. The direction of velocity remains perpendicular to the direction of
magnetic field. What is the magnitude of net force on the particle?

1.6 x 107 C s3%0ko 8 $dn, 2 T 868 echamod §¥os® 3 m/s 35885008’
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A solenoid with 500 turns of wire is 25 cm long and is filled with magnetic material of
succeptibility x . The solenoid carries a current of 2.0 A. If the magnetic field inside the
solenoid is (0.8 «r) T. then the magnitude of , 1s (Assum&} =4m » 107 Tm/A)

500 <oty i 2.8 FBarond 25 cm FEY ¢rod X, 5% W5, 08 LT FoD QodR&EIE.
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A metal ring 1s held horizontally and a bar magnet 1s dropped through the ring with its length
along the axis of the ring. The acceleration of the falling magnet is

2.8 &5 BoSm i 88z dSrodom HLNFR, a8 SoF oA 0E ) T FE FosnY)
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In the circuit shown. find the internal resistan ue ‘r” of the ac generator, if the average
rate at which energy is dissipated in R 1s &'1 um
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A laser light beam of 1 MW was focussed to a spot size of an area 10~ m?. The rms electric

2
:9x109[NH; ])
c

field (in V/m) at the focal point is approximately (Assume f
mE
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A laser operating at a wavelength of 660 nm and the power 9 milli watt hits a target. How
many number of photons arriving per second at the target? (Let h = 6.6 x 107* J-5)

660 nm $5oriBL g0 I HITow Se2dd 9 milli watt FJoTrgd) $0A =8 oFgd) S5 %08,
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An energy of 24.6 eV is required to remove one of the electrons from a neutral helium
atom. The energy m eV required to remove both the electrons from neutral helium atom is
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A generalized nuclear fission reaction is given by

; 2
B r—a3a XY 4 bi

28 FEIBE)s Bows WG g PU+n—— X+ Y +bn ™ adTE

B p—aX+Y+bn

X Y b

Wx%e (a) 1
(b) 100 Zl. 2
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A p-n junction has a depletion region 8 x 10~ m wide. The intensity of the electric field
inside the depletion region is 2 » 10° V/m. A hole approaches the p-n junction from p-side.
The change m kinetic energy of the hole as it enters the n-side will be
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A transistor 1s used in counnon—em@ ode in an amplifier circuit. The base current and
the collector current 1s changed 0 mA and 3 mA respectively when a signal added to
base-emitter voltage. If the V& gain 1s 600 and the load resistance 1s 10 k€. then the
magnitude of signal added to base-emitter voltage is
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In an amplitude modulated signal. if the modulus of minimum voltage. [A__. [=40and modulus
of maximum voltage. |A__|=60. the percentage modulation is
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The number of radial nodes of 4 p and 4 forbitals respectively. are
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Which transition in the He™ spectrum will have the same wavelength as the transition from
n, = 1 to n, =2 m Hydrogen atomic spectrum?

He" S5EH00e5°0 2 H05ISE0 TERS HUEren S8SLoS'™ ny =1 %08 n,=28
205GE8 Diors SGoiBY g0 erodnod.

O)
Options: '\/
%

R =2 ;=4

A
P 8o C)@
X Bo=2 ;=1 Q/?*
n=1:n,=4 &%

1 2

1.

2

4.

Question Number : 123 Question Id : 7512365723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :  The ionic radius of Mn® is less than that of C1*".
Reason (R): Mn*" and Cr*" are isoelectronic.

PES (A): M’ ecirdf Tgdgsn Cr g0l &8,5m totob.
swmo (R):  Mn™ Sdoke Cr' ¥ JogSe 5052,

The correct answer 1s

DHOGDE Jdrerdsw



Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) 508030 (R) Bodo $8 @ondd Sodadn (R). (A)§ $8 @wond IS8,

(A) 1s true but (R) 1s false.
(A) $8 onsd 30 (R) 586 wondd 5.

(A) and (R) are true but (R) is not the correct explanation of (A).
(A) 080w (R) Bod 886 2ondd 522 (R). (A)S £58 wond J580 57,

(A) 1s false but (R) 1s true.
(A) $86 @ondd 57 570 (R) &8 wondd. \9

V

Question Number : 124 Question Id : 7512365724 Question Type: MQ&)ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s the correct order of electron &@gmha]p}f?

Qt’.:@jﬁ Lﬁ"’u:'ﬁg Quﬁ?@& B[ esow L b

Options: &%

ClI>F>0>Li
FaO»Cl>1]
F>Cl1>0>L1
3.

Li>CI>0>F

Question Number : 125 Question Id : 7512365725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Consider the O — N — O bond angles in the following species.

Bod e O —N -0 20680 Hododkod

A NO2
B) NO2
C) NO,

The correct order of the bond angles m A. B and C is

A B 508030 C 08 208 oo 58 wownd [Eh0h0

Options:

O)
A<B<C (\/Q\'

1.

B<C<A

A<C<B ?
, B<A<C ,@
Question Number : 126 Question Id : 7512365726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The hybridization of central atom .CIO? and -Clof‘ are respectively

CIOS. CIO® o o H85rm Hosbédmo S8
Options:
2 3
sp~ and sp

sp” 558052 Sp°
1



sp’ and sp’
sp> $o8032 sp°

Z.

sp”and sp

sp” $odad0 sp
=3

sp° and dsp”

Sp° SoBoso dsp?
4

Question Number : 127 Question Id : 7512365727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical q

Assuming that air 1s a mixture of 78.1% N, and 20.9% @lﬂa average molar mass (g mol™)
of air 1s approximately (1/

md oEFdodnes” 78.1% N, o8ako 20.9% JEJ wirofI md oo Irerd
ES5078 g mol™ o Bodrdormr @

Options:

| 78.08 Q/v
K2

20.9

100
2

28.56
4

Question Number : 128 Question Id : 7512365728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What is the fraction of the total pressure exerted by H,. if a gas mixture contains equal
mass of H, and O, stored in a container kept at room temperature?

DB B550°3 o H,, 0,705 QoFsed) 16 ¢S 5§ o8 MSS* Jog wodS, 3ogo
Hasos® H,$eokBns ko Jo8?

Options:
1
8

1

.

Question Number : 129 Question Id : 7512365729 ion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiol tical

Consider the following I'Eat:)@

2C0(4) — €0y, +C

How much carbon (in g) will be produced if 20 g of CO 1s reacted completely?
Bob Wog Hdodobod
2C0(5) —CO0y) +Cy,)

20 g COrgm SE5T008 o8 578w (g od") &8

@G

5067

Options:

10.0
1.



2.14

4.28

>

, 200

Question Number : 130 Question Id : 7512365730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Estimate the approximate amount of Co*™ and Co’" in weight % respectively in C 0,0,
compound

(atomic weights of Co and O are 58.9 and 16 respectively)

C0,0, 83588506 Co™ S8t Co™ B308red) e;»dav@sﬁ S&dm Hodrdor woda

Sos08. Q‘\,

(Co. O © 38570 eroren 355m 58.9 558050 1%

Options: @&

) 24.5; 489 @C)
33.3: 66.6 ((/?‘

. 50; 25 ,\%

Question Number : 131 Question Id : 7512365731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Consider the following thermochemical reactions.

1 1

i

BCly, +3H,0;) —— H,BOy ) + 3HC], ) +112.5k]

ByHg)

using the above reactions, find the

+6H,0) —— 2H,BO; ) + 6H, ) +493.5KJ

approximate A H’ for the following reaction in kJ

B,Hy,) +6Cl, y —>2BCL,  + 6HCl,,

BB &REFahHS Sogs K5DoBod. O
| QY

1 1 1

2 2 2 2 P &
BCly ) +3H,0( 5 —H;BOy ) +3é§{} +112.5k7

BEH{;{W}+6HEO{ y—>2H;BO; $ +493.5kKJ

’:f{.;:.'v

D Sdgedn eddorhod, Q/
Bol wEgsw A JEE méoﬁfi:a&(.lu&ﬁ‘

BEH‘S{#} + 6C12{5T,] HZBC]HW] + GHCI(J,]

Options:
—839
1

92.5



Question Number : 132 Question Id : 7512365732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reaction,

CH4(E] L Coi{g} — 2C0{g}l > ZHE{E'J

if the degree of reaction of CH, and CO, are 20% at equilibrium. what will be the equilibrium
constant? The initial concentration of CH,. CO,. CO and H, are 4.0 moles each.

Bob H8geS”

;553@%@ ;’JQ CH4, COQ"*’J ::565 o?mézr 38 20% o8, m’n@“?&}@ E}gc‘*oéo JOes? CH4.

CO,. CO. H,i&rdoef miden $8 e, 4.0 3rden

Options:

74

Question Number : 133 Question Id : 7512365733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If an aqueous solution 1s 5 times alkaline than pure water. the pH of the solution 1s
approximately (log 5=10.7)

DG A 08 o8 soErdopo 53L 578 Jeardo $OA &Sond, & (heo pH Sododor
(log 5=0.7)
Options:
. B
1.
8.7



[

6.9

Question Number : 134 Question Id : 7512365734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the values of NA and ND in the following statement?

“In the crystal structure of ice, each oxygen atom accepts NA hydrogen atoms from the
hydrogen bonded network and donates ND hydrogen atoms to the network™

Bod D58 NA $8csn ND Jenden J20¢5?
B0t $HBE IS, B8 wiind H8drmnd) NA TEas S8drmdod TEes
ROTO reiin Hod Hirod Hocsn ND @S H85rme st aosis oo Bk08 .

QY

The correct answer 1s (\/
D8 Lo AdrTadn
Options:

NA=ND=1 C)Q,}
o N\
_ NA=ND=2 ((,v~

NA=1 , ND=2

NA=2 , ND=1

Question Number : 135 Question Id : 7512365735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following.

i)  The hydration enthalpy of Li". K™ and Cs™ follows the order Cs™ > K™ > Li"
i) Be(OH), reacts with NaOH and forms [Be (OH) 4]2‘

ii1) Aqueous solution of washing soda 1s basic.

Bod T8 D8 wond Lo fBokod.

i) Li,K So00i Cs™ gfsm Jogdy odbsod gl Cs" > K > Li"
i1) Be(OH),. NaOH & $¢gTob [Be (OH}4}2_260 D VEB08

111) YO FF 2O Sdnds 579 derdo dotwod
Options:

1,11

1, 1. 1it Q/?
Question Number : 136 Question Id : 7512@6 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

How many B — OH bonds are present in borax?

Tor§S' I B — OH axomrenamon?

Options:

4



Question Number : 137 Question Id : 7512365737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the thermodynamically most stable allotrope of carbon and what is the hybridisation
state of C in it?

GRIBEPJ 0 (500 & YISt SGS Erroddin J6? H0ain IS’ C D088k
V8 aed?

Options:
Diamond ; sp’
@008 ; sp°

Graphite : sp*

e | spz é
2|
@

Question Number : 138 Question Id : 7512365738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chemical compound that was earlier used in drv cleaning process 1s

Age HE8S* DHigo Fh BEDS® G0 SIRFADS SRS HToy¥sH

Options:
tetrachloromethane

BErEeds



tetrachloroethylene

SErEdaeods
5.

perchloroethane
28T EHBS

ethylchloride
RPSETG

Question Number : 139 Question Id : 7512365739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find out the correct order of boiling points for the fo@ng compounds

v
$ Bl stmied

a) CH,CH,CH,CH,OH &J
b) CH,CH,CH,CHO ?.

c) CH:,_CHECHZCOOH&%Q/

Bod IDTre wrydss oo B0

o

i

Options:

a>=b>c

a>c>b
=

c=h>a

Question Number : 140 Question Id : 7512365740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following reaction conditions are employed to benzene in the preparation of
Gammaxane?

Dot 1Bod T8S” o BT gdl&d o GIHBrAod KH7r8R&0 S5 WORB ) 0?

Options:

6Cl,. Anhyd. AlCl,. dark and cold
6CL. dge AICL, DES 58050 e

CL,. Anhyd. AICL,
CL. dge AlCI,

O
3CL. UV.500K Q\'
=,
V
3H,. Ni. heat é
3H,, Ni. 38 O

Question Number : 141 Question Id : 7512365741 (%()n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oner% ertical

The product Q of the fc:rllm{&g reactions is

Bod Sdge GE KB Q6?

2CHI, —3~ P

' H-C=N .
2P red—hotiron tube g Q
(G 5705 adkdT o)

Options:



m—zi @ @

<

o)
4_ N
A

Question Number : 142 Question Id : 7512365742 Question Type.. Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical<( ,

What is the coordination number of an am$a cubic closed pack structure with maximum

packing efficiency? Q/?“

w&HE Srddy Fdogso Ko ;@E&ﬁr‘é Erddy QUTdnd” ed) 800 DDagos
Qopg Jod?

Options:

6

1.

12

10



Question Number : 143 Question Id : 7512365743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressure of an aqueous solution of fructose 1s 646 nun of Hg at 100 °C. What
is the mole fraction of water in this solution?

100 °C 5§ @§E moErdadn wrdwdso 646 mm Hg ¢dHo. o @deod® 38 IrS

B0 Dos?

Options:

0.17

o
3. (19\,
A
4 @
@,

Question Number : 144 Question |d : 7512365744 Queﬂio@e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : ti

Assuming complete ionization. wh&ids/the osmotic pressure of a solution of citric acid of

0.05 molal concentration at 20 G%SSllﬂlﬂ that the density of the solventis 0.1 gmIL ™" and
van't Hoff factor for citric acflns

I8 D@redsw drodofay 20 °C ;’JQ 0.05 Ireord mEs fo I8 530 (Al
Bt 58550 Dod? rsed rose 0.1 g mL ™ S06050 ST @é’)ﬁo ToeSTD Mo
4 3 Sroihfob.

Options:

; 480 atm
4.8 atm

.
0.048 atm



048 atin

Question Number : 145 Question Id : 7512365745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solution of NiSO, 1s electrolyzed for 30 min with a current of 2.5 A. The mass of Niin g
deposited at the cathode is (atomic weight of Ni= 58.7)

2.5 A $8oind NiSO, @59 30 ddodren dogdEam Bt ' 5§ I8HI0D

i i

Ni (555073 g 0™ (N1 ke gdo = 58.7)

Options:

0.171

; O
5 0.342 N
>

0.685

1.369 @
4,

Question Number : 146 Question Id : 7512365746 _(%(on Type: MCQ Option Shuffling : Yes Display Question Number : Yes
n

Single Line Question Option : No Option Ori : Vertical

For a reaction P — Q + R, dﬂggwen temperature, when the concentration of “P” is
increased by a factor of 10. the rate of the reaction increases by a factor of 100. What is
the order of the reaction?

2 SPS 8 P— Q+RE650" “PPmrddd 103860 Woddiond @6goin 1003éw
20A0H. U0y BdroEdn Jod?

Options:

2
1.

b [ =



Question Number : 147 Question Id : 7512365747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following is/are not characteristic(s) of enzyme catalysis.

A Lockand key mechanism
Enzyme urease catalyses the hydrolysis of urea and other amides.

In general active between pH =5-7
Uninhibited by inhibitors and Poisons
High specificity

mgonw

§od T8 JoB ﬁ@g{ﬁeao v SO 5% @
A %% oisdy edo BI HorgATHE0 &
darBodor S8ty 8Y Ebo 2oJE 0320G30E JOBL @8 TXod

Fgrdeoorm pH = 5-7 08 8ciri o8 trotnob

MmO 0 W

AT SO0k ISy, RFRFGoSRdd
edgHE I8errd)§ o é/

Options: &

, D

B.C

B.D

Question Number : 148 Question Id : 7512365748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



. Which of the following enhances the non-wetability of the minerals in sulphide ore during
froth-floatation process?

258 BEHIEES® $TE B8 PITOSW PIT W SETHOT GOBrIE Bob FES
2B Bodosd?
Options:
Water pH. maintained by sodium carbonate
r&oio 5THRE 8 pH & H088:0008

Cresol. a froth stabilizer
$585 POESS, 8BS

2 g
Sodmm ethyl xanthate (frothing agent) Q'\’
oo 2PS MBS (IS 5°IES0) vV
Pine oil. a collector @C)

2o wownd, wl (s v

4, Q/
Question Number : 149 Question Id : 7512365%49 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Amongst the hybrides of group 15 elements, the strongest reducing agent is

15 i) Srese ?@5@&3‘ wodd Eolidn Tigkn

Options:

ASH3



BiH,
Question Number : 150 Question Id : 7512365750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify A and B respectively in the following reaction

HCIO4{3} + ons{s}l 4}‘%{3} i1 Bf_f}'

Bob $8ge5" A, B ol 380 Kogodod

Options:

 CLO : HPO;

CL, : H,PO,

2.
€105 :H,PO,

3.
CLO, : HPO,

4,

Question Number : 151 Question Id : 7512365751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following.
1)  Potassium manganate is diamagnetic and potassium permanganate is paramagnetic.

1) But}imlog aud.Mnoi‘ have tetrahedral structure.

iii) Permanganate oxidizes S,03~ to sulphate in basic medium.

iv) Thereaction between acidified KMnO, and I" solution gives MnO,. water and I,

Bod ES” B0 wond I Hiowod.
) oo SroflIS dor edbamoddto Sob 8ol riraco HooNIE

QT oddo Sub.
i)  MnOj; %6050 MnO> Bodis BErir@ds domo Sk,
ii) 56 oSrd80s® Ho7 RS 5 035~ Q 3OS e§Esmo Tob.
V) edués KMnO, $:8c50 I @dmo $6g 565 Iv&t}y & %8050 L, o008

Options: &
i. i, i &
1. < ,

ii. iii @
i ,@

1. 1

Question Number : 152 Question Id : 7512365752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound sodium monochloro pentacyano-ferrate (I11I) 1s

FEoLo IrTEE DotrpS-EE (III) $30)¥do arder

Options:

[Na,FeCI(CN),]



Na,[FeCl(CN),]

2
Na,[FeCl(CN),]
2
Na,Cl[Fe(CN).]
4

Question Number : 153 Question Id : 7512365753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomers can not be used for the cationic polvmerisation?

808 FrFHIS’ TLFIE FOHEECINEE GITrHLIE I8?

Options: QN

Vinyl ester
. SO %6 @

Isobutylene @
D0 gLl 1) J

Vinyl ether
. 936 &§8
Styrene
268
£
4

Question Number : 154 Question Id : 7512365754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following amino acids and their one letter codes.

§od T wirod D0 T8 il doserod adddPod.

List-1/zrde -1 List- I/ z=9ee-11
A)  Tryptophan ) T

B
B) Tyrosine m w

B&™S

C) Lysine m KLY
>

D) Threonine (% i ]
EBRrIS @

The correct answer 1s %@
HOG0S DIFETHH0 A

Options:
A B € D
O d) I av)

A B € P
I @) @ @

A B C D
. @ O av @



A B € D
(O @) )

Question Number : 155 Question Id : 7512365755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct?

1)  Shape of the receptor changes after attachment of chemical messenger.

11)  Receptor regains its shape after the removal of chemical messenger.

ii1) Chemical messenger gives message to the cell by entering the cell.

iv) Binding of drug at allosteric site of enzyime does not change the shape of the active site.

808 DSOS HEFHED A?

1) Sohd Sdrod Tirdo odF)d) sthad L{F“{}"é@&‘a“éo Srddood.

i) SraDd Er@d THEo S80S Sk @ 80 &0 BT FoB0B.
i11) SFrohd Sdormd Trgo 2580065 8 DOLELETNE DIrarord) wobdyod.

V) QoB BwE), T RBE TS Hrokh %ﬁﬁ;’nééo Sorerd (Firio N0 580

S, O
Options: @

. 1. 1v Q/v
K2

5 LAtV
1. 11, 111

3.

o M

Question Number : 156 Question Id : 7512365756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which one of the following is correct for the substitution reaction shown below.

E0B rHodd 88N $ogk §od TUST B wodd A6?

CH, | CH, CH,
)\ P, Bm s PR, R /K
2" en HO  CH. cH, o

Options:
Follows second order kinetics
Bodd Bhros 88 T Figod g
) S

Proceeds through two-step reaction 111ech31K111
Sod wode doTg a0 5"55 eaa“.i:;ﬁ:;éor@

. @c,

Rate depends upon the ccsucen& of {%H

| 2
d& OH mésp @Eﬁﬁfﬁé@
o

Rate depends upon the concentration of both reactants

Odn Dok Boirasse mESH erddiod
4

Question Number : 157 Question Id : 7512365757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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What is the major product of the following reaction?

BoB WBS® BT wEHB30 26?

OH
FDC
?/ CH,Cl,
OH

PDC = Pyridinium dichromate (5843055 Z§30)

Options:

A
OH QQ/
Q
OH ({/?‘

CO,H

CHO



COH

Question Number : 158 Question Id : 7512365758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the product formed on reaction of acetone with n-propylmagnesium bromide
followed by hydrolysis?

IS P S BHACHS SES SE5T0b SGoHR 2o IFhe BHIT Dk

ﬁe‘-’.}g@_ﬂ Q62 Q\,

Options:

o o >
. OH Q/v
%,
b~
/\(I;I\/
A

Question Number : 159 Question Id : 7512365759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The product “G™ in the following reaction is.
Bod S5 Ay wS$Hdn “G”

CH,_,COEH (1) Red P_ Clz

IS
@ — L 3 TTGH‘
(1) H,O

Options:

I

Cl

Cl

Question Number : 160 Question Id : 7512365760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which of the following reactions produce amines?

§ob TES® IWIwe INT FBgew D?

a) CH,CH,CONH, 2,

Bry KOH(excess)

b) CH,CH,CONH, S
¢) CH,CHCOOH— 2% |

|

NH,

d CHE0CH "5,

Q

(a). (b). (©)

Q/?‘
(D). (0). (d)
2_ &

(a). (c). (d)

1

=

(a). (b). (d)

4



